

$\frac{3}{8} + \frac{1}{8} = \frac{4}{8} = \frac{1}{2}$
 $\frac{5}{8} - \frac{1}{8} = \frac{4}{8} = \frac{1}{2}$
 $\frac{5}{22} + \frac{5}{11} = \frac{15}{22}$
 $\frac{4}{49} - \frac{1}{49} = \frac{3}{49}$
 $\frac{3}{14} + \frac{7}{14} = \frac{10}{14} = \frac{5}{7}$
 $\frac{37}{56} + \frac{5}{56} = \frac{42}{56} = \frac{3}{4}$
 $\frac{15}{20} + \frac{5}{20} = \frac{20}{20} = 1$
 $\frac{12}{15} - \frac{7}{15} = \frac{5}{15} = \frac{1}{3}$
 $\frac{8}{9} - \frac{4}{9} = \frac{4}{9}$
 $\frac{5}{9} + \frac{1}{9} = \frac{6}{9} = \frac{2}{3}$
 $\frac{9}{16} - \frac{5}{16} = \frac{4}{16} = \frac{1}{4}$
 $\frac{3}{5} + \frac{2}{3} = \frac{13}{15}$
 $\frac{2}{7} + \frac{4}{7} = \frac{6}{7}$
 $\frac{5}{14} + \frac{3}{14} = \frac{8}{14} = \frac{4}{7}$
 $\frac{47}{62} - \frac{21}{62} = \frac{26}{62} = \frac{13}{31}$
 $\frac{17}{20} - \frac{5}{20} = \frac{12}{20} = \frac{3}{5}$

Term of Use

Copyright © Qiang Ma

All rights reserved by the author.

Credits

I draw all the clipart myself for all the products in my store.

Thank you so much and I hope you enjoy this lesson.

